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58. Ms. Li opened a retirement account with a 59. 6 -9+ |73+ (=2)° x 1-;-

deposit of $2,500. This account earns 4% 3 =
simple interest annually. How many ye What is the val(ie of the exprassio
will it take her to earn $500 on her shown abbv

$2,500 deposit? —'%7&:2

—

s >
’&5&2&%5—- ¥ 0 A X
X

60. Solve for x:

\OO@ fS@Q 7x+3 - 22x+1) =13
-._[{x——*

|

X
% s
X

3
D

=13

[



61.

l

A m

fe .,
|
%eo_)iné‘—“lao
| %O —g0-
/:é 30 -90 35:@

A 4

5

A

In the figure above, line / is perpendicular
to line n. What is the value of x?

ﬂtve;xa.g’- Ijﬁ:‘

62. The mean value of 8 numbers is 17. Three
of these numbers (9, 11, and 20) are
discarded. What is the mean of the 5
remaining numbers?

A= SUNFFS

FHH=S
B =S
\ 7
SUM= g% [7 =80+56
— 3¢
Q+11+20 =40
[ —
% Aum bers 136
e (O

‘3 numbers ‘Szg?a

5190



63. 3*4+ 7%=

31 x4y
w09 4ol
@:)2482 4q T__ 3|
D. 10,000 'L{L{I
-
3} O\

65. Jamel works at a computer store. He is

paid an@gh’/@@ 15% - 15—
commission on all computer produdg.s) he
sells. Last week, Jamel was paid $802.50
for working 30 hours and selling
$1,250.00 worth of computer products.
What is Jamel’s hourly rate?

@20 50/hr = MX +h
B. $26.75/hr p=(h +—'36 froé
C. $33.00/hr

D. $37.65/hr
LOD SO = '301"‘*'|00(950)

‘%23 S ~30r+ 1375

e~ 6157 3 6o6




64. In one week, 1% inches of rain fell on
Monday, :—l;- inches fell on Tuesday, and
%lnch fell on Wednesday. How many

inches of rain fell during those three days?

2 3
7 | - | =y
@524 T—I
X \6
1 - —_— —
2\
n =4 7 Py =
H. 31 3 35S
2 =24
Sszg\’a‘ -3

66. A revolving sigh makes 1 complete
revolution every 90 minutes. If the sign
starts moving at 2:30 p.m., at what time
will the sign complete 8 revolutions?

E. :00am. |rov | rov
F)230am.  Gomn — |
G. 4:00 p.m " Shes
H. 12:00 midnight | v\, @ 1
1.ERS % hes
X = gx|5
=12

2230PM+1Jhrs |



67. y = AWK =4

Points Y and Z are not shown on the

fot shows
number line above. }_f_&Js the midpoint of
’_W__‘_n_’, and Y is the midpoint of WZ, where
on the number line would point Z
be located?
A. 2

BI 4
6

(s

69. Ifnisaninteger and 3n + 3 is an even
number, which expression must also

represent an even number?

5n +1 Ox0=0 | D+O-E
B.4n + 5 OxE=E | OtE=O

C.2n+3 EXEZE |ex€=E

D. n+ 2 .
‘Un and Jn GOL wulhpl €5 R 2
xnd Yhererope 2Ven, Thor

plug o VS 838, T o rules OUY
choices B *nd C, | ‘

« T 20+2 the number 315688
and Wo ¢, ¥0\8 X315 even

'H’\Qf\e_%rg Snhis odd.
ThereFore h is 0CCs

~0dd plus even is odd,
T\r\o.repore. W S rvles oux D

LY

Vo weirm Ais the answel,
0s his 048, then S 15 Odd
An odd plus | (Which s 66&)

IS even



70. The product of two positive integers is 65.
—
Which number could be the(Sum)of the

two integers?
E. 5
68. 81 _29 ® 18 Factor_ poiys oF 69
10 n G. 24

H.52 Y+ (5266
What value of n makes the equation

above true? 5 * l?b :

USQ, oS PYO&JC:\-
Rn=9%(0=90

¢ RV

E. 1



71. 1If nis an odd integer that is less than
—3.25, what Is the greatest possible

value of n?
A. 1
B. —2
C. -3

A humber less then_3 35

~H 1S Q\Rin

‘. - :.‘3 '\ _{l {
@ -4 3.9% -9 S

73.

Between which two consecutive integers is
29 —
the fraction 7-

A. 2and 3 |
B. 3and 4 =9 _7’7_
4and 5
. S5and 6




72. A swim instructor used the box plot below
to display the distribution of the ages of
students who signed up for swim lessons.

STUDENTS' AGES
1

——t—t—t—t———

5 6 7 8 9 10 11 12 13
MR4; on K’\\ Snotave mﬂe(_ﬂ-l(ﬁ mafh

Which statement about the distribution of

ages is true?
e —"

<

E. The data contain an outlier, \ONE 90N
F. Approximately half the students are
éxactly 9 years old. Plot does potshov
+hat
@!\%:Edm{atﬂy one-fourth of the C)
students are at least 10 years old. “*3
H. The interquartile range is 3 greater
than the range of the data.

ZQR =10-3 =2-

mox—min = 13-7 =S

The VieFeronce between gaméll
s 3 Lot the T.OR is Zless notgreatt

74. A customer wants to buy a pair of
hiking boots.

e The original price of the boots

,"‘o , 5— ®
— S
?h%szé Is% ering a%j"% gs?:oubon
aII boot purchasesmun o 7.3

. Th customer has a coupon for an
additional 25% off the sale price.

e The tax rate is 8.5%. 72 3‘? X 75 -

100%+3.5% = 108. 8% Py gr0 167
What is the final cost of the boots,

including the tax, to the nearest cent?
E. $55.82 > H: 7% [LOBS=

$59.08 S9. 2Ne695
@$59.3z f
[ $63.17 ounds VP
=103¢ —
103.570- 756 =1.035




75. Sheila is saving money for her summer
vacation. She starts the summer with a
balance of $90.00 and plans to save 15%
of her earnings each week. She eam:s_th-e
same amount each week. After 12 weeks,
Sheila has saved a total of $472.59. How

much money does Sheila earn each week?

@, $212.55 -—q-;; 59

90.00
B. $262.55 — 5 il
C. $302.55 32 57 [3Weells S

D. $312.55 232.59=/3=319333

219935 = {3pearnings

. _ [ —
QG,r'hmas = QI.?‘JQS"}%O_Q. =aldss

32 4 (—8)° + 22 _

77.
(3 - 8 + 2)?
yU-"7
A. —60 q%qz q“'a,l
3
B. -1Z
3
77
9
D. 68




78. A soccer coach purchased 15 pairs of
76. x:35 = 20:28 P =2 palrs
cleats for team members and spent a total
of $805.95, including tax. If the tax rate is

For what value offig WP oportion 8%, what is the the price of each pair of

shown above true?

X 20 zZ cleats before tax?
.27 2z =% 7 E. $49.43 100% 370 =105 /s
Es X _z (F) ga0.75 1077, =log
- mTS G. $53.73 ‘ c’owp
H. 13 5 7 L. $58.03 [etS reverse v rst
7 =35%5 e 199y = 9595
=5 - 5 'oo 108 Gacet s
Y% 7 " l/;l{/ zyog,qull_ag: i%‘ ®
uss
=74, 95 o1
49 ok
[s] ﬁu,'&( 746.25% 5= 3
T9b 1 pa; —<4o
| P 1rs
12 249,75



79. The numbers m, n, p, and q are different,
and each Is equal to one of the numbers

1,2,3,6,0r12.1f2m = 6q = %n = p,

what is the value of p?
, Giv‘?h CV=r Hien
B. 3 i r:pamdﬂs W Nchon
6 ‘qu_n C1n(RGRS
@12 lw%ch Yne 3{66*?5(
[{Y‘\‘I' (e
CD@E&C \Au(’, \f)ﬁnc!

Hhe 6mol[a5’r Co&q\ uent mov ke
poired With the 10‘3'5'+ vaL‘e,\j

1+ [ollews then that L. Should

try Hae |Q£S'} s&the choices pm\heIEJ

in the oNn with f beaiuee 1}
1S3 Pwrec\ w'th Z,T"r\e_reﬁxﬁ-

——’:(}-@ PtSOP @

“T'kuea[;re_ m=3 gnd 9,52
Cho,ce 4 s nof u'StC]

81. A student uses Spinner R and Spinner T to
generate a list of two-digit numbers.

SPINNER R SPINNERT

20m e

D{-Q'oTAS on9L 1S

‘E'f 2,34 ESPME Rt
Spinner Rd determlnes the digit in the ens
place, and Spinner T determines the digit
in the ones place. What is the probability
that the two-digit number determined by
spinning each spinner one time is a
prime number?

SPneer (Aol 05, 24 j.l-s

@2 91,...,15

Primes possvle in ‘H\bm“‘a*’
B. 5. 6F Pnt Sprees]

12 44,43 47,492,324
c. 3 1,Y7

5 (,rassed m.d‘ numbers are net

po3Sible wikh Spantry MT

D. —g— So there art 6 4ua —diait
Prime numioes pos:»h[g

P l-lSu &$T

any- %'*-Frnm-l-}r

P » )
wuv.g_é,bﬁ - GW“-T-"'I

Porime = £33




greo twan 0.005
80. {0.1, 0.01, 0.001, 0.0001, 0.00001}
—.\
lesS Fhan 0-005

If a person chooses a number at random

from the set above, what Is the(probabili @ 3
8

that the number is less than 0.005?

5
Y\ Bl —
1 - 4 Jes3 The - 12
Er D=
c 3
E 2 5
5
(@) >
3 8
5
H. 2
3



82.

135°

. =y k
Ais 130° S
(30 —4g- 00 =32
Lines j and k Intersect at point Q, and h is
a straight . What is the value of x?

h<

Y

E. 55
F. 45

@)3s

H. 30

84. A basket contains red balls, green balls,
and white balls. There are 12 red balls in
the basket. The probability of randomly
choosing a red ball is 1 in 3. If the
probability of randomly choosing a green

— -
ball 15_1__@__&, balls are in
the basket?

\
E. 3 ,.ed-_—_g,fb\-m\ balls

F. 8
@9 la:_}; Yota! kalls

H. 16 36 —total bells

l3r (36~-13—-q=Iswhite)
qa Para.e,ﬂ :-lq¥3gj@

-l"? W
36total




83. Which statement must be true if x is a
whole number greater than or equal to 17

—
let¢ make it \

1

L
3

It took Lars 2 hours to ride his bicycle
48 kilometers. What was his average
speed in miles per hour? (Use the
approximation 1 mile = 1.6 kilometers.)

A. 1.5
® 1s02hr _h
C. 30.0 KM 9"""""\
D. 38.4 We mé X0 invert thS

aﬂmﬁx_% = Mmiles
Lhe 111G \ehrs
24 <9 o:@
SR



86. Integer x is evenly divisible by 3. Which
expression below is also evenly
divisible by 3?

all dj visible by 3
E. _gf:::-hok dvisivie by 3

F. 3x - 5
=2

G. 4x - 1’ :
- . P b
<:)4X + '6_""8 éiU\Sible \’
\—//

The arrow starts on Space P and moves
clockwise around the circle. It moves
through one space each minute. What
space will the arrow point to In

100 minutes?

E. R There are 6 SPM,:“
F. S b0o=6=16 l"emn\dgrq

@T’ count Y Spaces Fom r @

H. U that gves &R, S,




87.

Lamel has a jar containing 6 red chips, 10
blue chips, and 4 yellow chips. If he
removes one chip at random, what is the
probabllity that it will 22!:_ be red?

A4 Gred

S | © blye

7 _Hyellow
@ 10 290 Yoleal

c. % not red is klve cmé\,cllow

b, 1 blue end Yellowis M chifs

5
Protred = = "-"
Jo

89. Mei-Ling is one of 6 members of a
committee. If 2 members of that
committee are selected to go to a
conference, how many of the possible
Elri_pf members would include Mei-Ling?

5 'ﬂ\ert ore W0 S\O'\'s

57 Therrsrsioris tollen vp

c. 10 PHMe-ln

D. 12 T oy lewes Smembers
For Hesecond do¥

So Met ~Ling Wikh occ\, respech it

other Member (owvgn®S pafs.

Therefore 1X5=



90.

Ifm = 5and t = —1, what is the value
of. 6 -82-10 ,
2m + 4(3 - m)

@-9

F. —1

G. 1

H. 9

C. $(A= _\\ 6—38 L‘?’\ -

o+t (-2) 0%

-9

92.

g

A

& +
&

N L
-4
g

o AR —
Y

- - -

On the number line above, point L (not
shown) is located on line segment JK so

that JL = %LI(. What is the position

of point L?
Jk=6-"4=6+4=10
E. 2 JLr =JK
S LITES

JL z‘-LK substifute JL
G. 2 _95_\_‘“-\_\@_:1_0

H. 4 1.%(\ < 10
Zém“;ﬁa -6
1(\L\i G o k=t
then 6-6=D

thercfo rt.



91.

56° y

In the parallelogram above, what is the

value of x + y?

A. 112 The M5|e5 In & pardlelogam

;:g Twhe arras}fg Mj‘d? tw &~
parnllelogram are Qe

Therefyre iF Pis 56;80 is IR

Therefsre X+ musk be

260—56-56 XD

93.

Josef and Mai divided some stamps
between themselves. Josef got 60% of the
stamps. Ifrecelved 500 more
stamps than Mai, how many stamps did

Josef receive?

A..300 Sce Tosef gol.—co%
B. 800 ﬂen Mﬁl' ﬁdjt“'loofo

50 ThereRyre Hhe 300 more
reThe
D. 2,500 [Si:mpt thed— Joselr reCo\ved
§ &0l 4OV, =2
IF500 s ao;O.H,\Qho 20/"&5\:"‘9
9500 Is [odfl omg

JoSeF 3ni' 607o SO

60 . 2500 =(§00)
(o0



24. 96. A scientist mixed three chemicals, R, S,

Peogrees
o ;?cl . ‘gs -;.10 ug :_13_ and T, in a glass container. The amount of
o R is 3 times the amount of S, and the
/ amount of T Is % the amount of S. What is
the ratio of the amount of R to the
amount of T?
E. 1:18 K=3¢
The shaded sector of the circle shown E 2:1 —
- &S
above has an area of 18z square feet. . 3:1 ReT & o
What is the circumference of the circle? 18:1 "ol
E 144xft Neirde=eTr i S
LN = Vg T 2 = B
@um g e 32 ) :3»:5,:3»46.-
Acdme= Ve 2 =144 W — ‘ :
G. 18 ft ' See . .
= Nr¥= 14y L G}‘& 1;?‘1 Fel:)o\rc\ma division
Hoozft  (2oyy =R J & +rachon



97. Ken has k video games, and Jeff has _J__
video ga-t;':es. If Ken gives 6 video games
to Jeff, Ken will have twice as many video
games as Jeff. Whlchmﬂon shows the

relationship)between k and j?
(A)k - 6 = 2(j + 6)

B. k-6=2j+6

95. Which graph represents the solution to

-3x - 7 > —4?
® iy — L1y C. 2(k - 6) =]
K’;‘(ﬁ_f" 0 1.2 3 4 D. 2k - 6) =j + 6 _
> ku 3210 1 2 3 4 KQT\ D K ;H{,yi"’\r\e,
x¢l ken 30?,5@50: k——c._) reviged \Lgn
C o | ————y : o
&-4 32101 2 3 4 JQ:EF 'S\ls N C:: _ &&z\rﬂ%
% >-4 Jeff ¥ Yens G ) W
e i e
Qu -34 1 0 1 2 3 4 e:S\_hG\S ‘lw"\t-&a’fgp; >
x>1 ) MusY u<e v :
When the loststep ~3 x A° Pj \(\_(0_“ ?'thd Kand J ).
inVU(VQSJ|'u§5}on ofa % >~ O -—1\()-}
n_quva.Jwefr;p Ha 5 ¥ > %_ S
b'b“. -

3
So > becarmes { x L1



98. Yesterday Sarah read 15% of her entire

@nothey 17% of the

entire book. In lowgst terms, what fraction
of the book is lg

book. Today she read

for her to read?

15 100/ sl poﬁez

=% M7 400
gk
Nz G’?

200
H. Z

100. Kim jogs 8 kilometers in 1 hour
40 minutes. At thhow many
rmeters does she jog per minute?
il

E. 0.08 ™

QL Uk (ONver b\b\f\?
G. 800 YU yes

H. 8,000 . — .
:LDOM\Y\

(1.000mm= 4x)

1000m = 4 ILM
B @
100min — 10" min




99. {1,2,3,4,5,...,198,199,200}

How many members of the set shown
above are multiples of 6 but not
multiples of 97

A. 11 COnsuder some rvulbiples ofGand 9
B. 13 1€ 12,13 2430,3¢ .

c. 20 179,18,273¢ ...

(5y22 50 L6913

ﬂ.\ nCI-U' JOESF\-f matter
Q Thea
G 100 s 4 Ve o 33
1 U O from above mulhples of

1% he.\ us rule outmulhples

of ‘1+h01 afe a!reud‘b
mulrples o 6

33—-11@

101. For what value of x is the equation

éﬁ_ur =I3(4 - 2x) - 1 true?
Hplyever Yerm Sg/
o ety

11

31

c. 15

L sb\ue.ﬁar%ﬁ“_'

as WOV P&
5
Heve's one way.

XK= 2'0 iSG-I 20—}
-30x -§



102.

R/

The diagram above shows line

segment RS intersecting a rectangle. What
_\—-N.______.

is the measure of angle y? {

@;‘go all O\f\f)lQ") e qoo
G. 50° “p ,m& is 1309//
H. 40 R0 - ~1230= 50

""he Su§ of the o\nﬁlas ofa-A 0

O—»ﬁ.ﬂppi:? ITne ¢ U\\?,

130 - 0:.

103,

30 bokal
ESSAY LENGTH ,

@ar o@ Nurhber of Essays
B <100 6
[ | (]

251-500 11 ,
[_>500 | + l§9_J

Eachis ot lost 100
All }_5_0_ students in Grade 8 at a school are

assigned to write an essay on the same
topic. A teacher records the number of
words in a random sample of the essays,
as shown In the table above. Based on this
sample, how many students in the entire

s

grade would be expected to write essays
with at least 100 words?

1;»6.

A. 20
B. 30

C. 100 Z,LJ

D.




104. Which percentage is n value
to 0.0099? 49

:LOOOO Jﬂ;ﬁ:;@’

E. 0%

F. 0.1% j_
10/0 el ::
@100% 460 @



105. The manager of a shipping company 106.
recorded the welghts, in pounds, of the
last 9 packages the company shipped. The
manager displayed the distribution of the Y
weights in a box plot with the five-number
summary shown below:

2ft
e minimum: 29
o first quartile: 31 X
e median: 42 - T -
e third quartile: 73 (e,spe,d:(d Side—lenafha are ffoporﬁona‘
e maximum: 98 In the figure above, the shaded r le
is similar to the outer rectangle. The |
Which statement about the distribution of length of the outer rectangle is 4 f/-t’ and
welghts is supported by the box plot the the perimeter of the outer rectangle is
manager created? Q14 feet. If the width of the shaded
A. The minimum, 29, is an outlier. X \\), rectangle is 2 feet, what is the area of the
B. The maximum, 98, is an outlier. % shaded rectangle? Wo
C. The interquartile range of the Lo=4
data is 11. no, it's U @5 Lo Permttrg=2Lov2Wo
The interquartile range and the median 4= 7.(:3) +2U\,.S S 4-23,\,.3
ar.c_-equal..“,m[m1 medion Qs oot F 6sqft =% HD_L
Y=Yz +H—F f Lo l_5 __3_____2_,5__
7.‘1\ 42 13 7 6.9_3_”& l")b 7,:[‘ s
TQR = Qg - Gyz73-3L=42 /';l(ﬂb E'L—js 73
H. 12sqft
24 and 1B e He min and max __<g _1__@
Yhecefore ba definiFion H"".;‘j a 3

noY O\A*\lefﬁ



107. A rectangular concrete driveway is 30 feet
long, 8 feet wide, and i.thlck What

Is the volume of the corfm'ete?
A Unif convers; an
.« 44 cu ft 535 [

. 48 cu ft

@120cuft 30 x Y = Q, _w

. 240 cu ft

uln_

ho'
Q"n .—'-—"'&a Box ? xT :@

109. Vicente and Carlaleach ran 8 laps around
a track. They started at the same time

and place. If Vicente ran 1.5 times as fast
as Carla, how many laps did Carla have
left to finish when Vicente finished

his 8th Tap?

3 — C_
D.S-% —2—:_
9= 3 - ?x__i‘—.‘:_,si

(‘5
dwus]oh b o D&d‘“OY‘\ 1S

Mu\hpl;ca\ioﬂb its recomcol

s is AA (O
“Keep Cronne Fiig®



108. At a carnival, visitors can win a prize if an
employee cannot correctly guess their
' age. The employee records the first 15
ages that he guesses one Saturday. The
box plot shown below displays data about

the ages he recorded.
| I —
- t ——————t—t—t>

7 8 9101112131415161718

What is the interquartile range of
the box plot? u.‘.‘Q&

E. 7 I.QF\: D‘lﬁ GO ‘:-L'?"’?'-’-@
9

G. 10
H. 11



Y\ e
LUO miles gy, same E_'l?l’f_s--

S hOowrs rote, oS 2,40 mifes
110. At West College, students are randomly 111. A train travels 2,200 miles from Phoenix
assigned to one of 20 dormitories and one to New York Cilly. The train covers the first
of 6 dining rooms. Kharleen likes 6 of the 240 miles in 5/hours. If the train continues
————
dormitories and 2 of the dining rooms. to travel at this rate, how many more
What is the probability that she is hours will it take to reach New York City?
assigned to both a dormitory@a dining Round your answer to the nearest
room that she_}!t(\es? / ok whole hour.
'S Mo mun 10N
@ 10% ke A. 46 200
F.o12%  \\lles B.45 — 24D
19% ./ \ c. 43—-—-
—
ZD G; -"—-O 1‘\&0 She _-93A ""“E{"j""’
Y0.3 rounds to @ 14

fLO g,oo



112, What is the least of four consecutive
integers whose sum is 587

E.1 ifxis mw]n{'e,aerl.k&h

F 2 %x+1 s Hhenéxy

G 12 (plka Cbnse_Quﬁv&)
13 inkeoer

So H consecutive m{'e:f.rs ove

><+1\_
x+Z,
x+3

-H\Qre_fore
x+xHh v rx+tdt 0%
Hy J’Q 53

ﬁﬁfﬁr@



113. .‘_':.”ta_{?suva[ue sincluded

. 1
el i

/
o 1 1
Z
Iposslble values gf_x are wy
the shaded part of the number line above,

which number line best shows all possible

: 1 A -2
values of 7 1 ::.2. S "I eK(CE
7z » O
A et ——t———>
Ko 1 2 3

-%.é_x.ﬁ_l.s
B. ——————
&}0 1 2 3
Lexi?),
C. < ey ||
2 3

)
A
o+ N'\_xo 1
vl ];
— (~
foy
N
m--
4

114. Chanelle selects a marble from a container

T —

and then returns it to the container. When

she does this 3 times, the probability of

choosing a red marble all 3 times is 31—6

Based on this information, what is the

probability of Chanelle choosing a red
marble the first time she

selects a marble?

1
E meg’_—- xé—-—:_—g—_
36 4okl roral = oS

e 1 G“\tqnf( red ;_:ng red @ (‘e,d)

8 — =

. +oto 216

5 Hewefore
tova¥= 216
totel = 3’1-\/_:1@ -

. I
.

Ped |



